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𝑋

𝐸[𝑇𝑟(𝑋)]

𝐸[𝑇𝑟(𝑋)] =
1

(1 + 𝐸[𝑑𝑎𝑛(𝑋, 𝑇)])

ℎ1, … , ℎ𝑚

𝑓(ℎ1, … , ℎ𝑚) = 0

(𝑣1, … , 𝑣𝑖) (𝑘1, … , 𝑘𝑗)

(𝑐1, … 𝑐𝑘)

𝑓(𝑣1, … , 𝑣𝑖 , 𝑘1, … , 𝑘𝑗 , 𝑐1, … 𝑐𝑘) = 0

𝑃𝑉 = 𝑛𝑅𝑇

𝑃 𝑇 𝑉 𝑛

𝑅



 

 

𝑃𝑉 = 2𝑅𝑇

𝑑𝑎𝑛(𝑋, 𝑇) 𝑋

𝑋 𝑇 𝑑𝑎𝑛(𝑋, 𝑇)

𝑋 𝑇

𝐸[𝑇𝑟(𝑋)]

(𝑣1, … , 𝑣𝑖)

(𝑘1, … , 𝑘𝑗) (𝑣1, … , 𝑣𝑖)

𝑋

(𝑘1, … , 𝑘𝑗) (𝑣1, … , 𝑣𝑖)

𝑃 𝑉 𝑇

𝐻2𝑂 𝑁2

𝑃 𝑉 𝑇

𝐸[𝑇𝑟(𝑋)] 𝑛

(𝑘1, … , 𝑘𝑗) (𝑣1, … , 𝑣𝑖) 𝑖

𝑋 𝐸̅[𝑇𝑟(𝑋)]

𝐸̅[𝑇𝑟(𝑋)] =
1

𝑛
∑ 𝐸[𝑇𝑟(𝑋)]𝑖

𝑛

(𝑘1, … , 𝑘𝑗) (𝑣1, … , 𝑣𝑖)



 

 

< 𝐾, 𝐼 >

𝑇 𝑋1, . . , 𝑋𝑛

𝑤1 , … , 𝑤𝑛 (∑ 𝑤𝑖 = 1) 𝑇𝑟

𝑇 𝑇𝑟(𝑋𝑖)

𝑋𝑖

𝑇𝑟(𝑇) = 𝑤1𝑇𝑟(𝑋1) + ⋯ + 𝑤𝑛𝑇𝑟(𝑋𝑛)

𝑤1 , … , 𝑤𝑛

𝑋𝑖

𝑤𝑖 𝑠𝑖

𝑋𝑖 𝑤𝑖 𝑋𝑖 𝑋1, . . , 𝑋𝑛

𝑤𝑖 =
𝑠𝑖

∑ 𝑠𝑥𝑛



 

 

𝑋1, 𝑋2, 𝑋3 𝑋1 𝑋2 𝑘

𝑋3 𝑘 2⁄ 𝑤1 = 𝑤2 = 0.4 𝑤3 = 0.2

𝐿

(ℎ1, … , ℎ𝑚)

𝐿

𝑇 𝑉𝑇 𝑇

𝑇 𝑇 𝑇

𝑉𝑇 𝑇

𝑇

𝑇 𝑇

𝑇 𝑇

𝑇1 𝑇2

 𝑇1 𝑇2 𝑇 𝑇

 𝑇1 𝑇2 𝑇 𝑇

 𝑇1 𝑇2 𝑇 𝑇

𝑇1 𝑇2



 

 

(ℎ1, … , ℎ𝑚) 𝑇1 𝑇2

𝑇

𝑎  𝑏

𝑃𝑉𝑊 =
𝑅𝑇

𝑣 − 𝑏
−

𝑎

𝑣2

𝑃𝐷𝐼 =
𝑅𝑇

𝑣 − 𝑏
∗ 𝑒−𝑎/𝑣𝑅𝑇

𝑎

𝑃𝐵𝐸 =
𝑅𝑇

𝑣 − 𝑏
−

𝑎

𝑇𝑣2

𝑃𝑅𝐾 =
𝑅𝑇

𝑣 − 𝑏
−

𝑎 √𝑇⁄

𝑣2 + 𝑣𝑏

𝑇 𝑇

                                                             
𝑃 𝑇 𝑣 𝑣 = 𝑉 𝑛⁄ 𝑉 𝑛 𝑎

𝑏 𝑅



 

 

𝑇1 𝑇2 𝑇

𝑇

𝑇1

𝑇2

𝑃 𝑉 𝑇 ℝ3

ℝ2

𝑇1 𝑇2 𝑇

𝑇1 < 𝑀, 𝑁, 𝑂 >

𝑇2 < 𝑀, 𝑁, 𝑃 > 𝑇1 𝑇2

𝑀, 𝑁

𝑇1 𝑇2

𝑇

𝑇

𝑇

𝑇

𝑇 𝑇



 

 

𝑇 𝐸[𝑇(𝐼𝐷)]

𝑇

𝑇1 𝑇2

𝐸[𝑇1(𝐼𝐷)] 𝐸[𝑇2(𝐼𝐷)]

𝑑 𝑇1

𝑇2 𝐸[𝑇1(𝐼𝐷)] 𝐼𝐷∗

𝐸[𝑇2(𝐼𝐷)]

𝑑(𝐸[𝑇1(𝐼𝐷)], 𝐼𝐷∗) < 𝑑(𝐸[𝑇2(𝐼𝐷)], 𝐼𝐷∗)

𝑇1 𝑇2

𝐸[𝑇1(𝑂𝑆)] 𝐸[𝑇2(𝑂𝑆)]

𝑑 𝑇1

𝑇2 𝐸[𝑇1(𝑂𝑆)]

𝑂𝑆∗ 𝐸[𝑇2(𝑂𝑆)]

𝑑(𝐸[𝑇1(𝑂𝑆)], 𝑂𝑆∗) < 𝑑(𝐸[𝑇2(𝑂𝑆)], 𝑂𝑆∗)



 

 

 𝑇1 𝑇2 𝑇 𝑇 (ℎ1, … , ℎ𝑚)

𝑇1 𝑇2

𝑑(𝑓1(ℎ1, … , ℎ𝑚), 𝑓∗(ℎ1, … , ℎ𝑚)) < 𝑑(𝑓2(ℎ1, … , ℎ𝑚), 𝑓∗(ℎ1, … , ℎ𝑚))

 𝑇1 𝑇2 𝑇 (ℎ1, … , ℎ𝑖)

𝑇 𝑇1 𝑇2

𝑑(𝑓1(ℎ1, … , ℎ𝑖), 𝑓∗(ℎ1, … , ℎ𝑖)) < 𝑑(𝑓2(ℎ1, … , ℎ𝑖), 𝑓∗(ℎ1, … , ℎ𝑖))

 𝑇1 𝑇2 𝑇 𝑇

𝑇1 𝑇2

𝑑(𝐸[𝑇1(𝐼𝐷)], 𝐼𝐷∗) < 𝑑(𝐸[𝑇2(𝐼𝐷)], 𝐼𝐷∗)

 𝑇1 𝑇2 𝑇 𝑇

𝑇1

𝑇2

𝑑(𝐸[𝑇1(𝑂𝑆)], 𝑂𝑆∗) < 𝑑(𝐸[𝑇2(𝑂𝑆)], 𝑂𝑆∗)



 

 



 

 



 

 



 

 



 

 



 

 



 

 



 

 

 

 



 

 

 

 

>𝑡



 

 

𝑇2  𝑇1

𝑇2  𝑇1



 

 

𝑃 𝐿 𝑃

𝑆𝑝
𝐿 𝑐1, 𝑐2, 𝑐3 … 𝑃

 𝐿 𝑃 𝐿 2

ℎ 𝐿  𝑆𝑝
𝐿

𝑑(𝑐𝑖 , 𝑐𝑗)

𝑆𝑝
𝐿 𝑑 𝑑′(ℎ, 𝑐𝑖)

 𝑆𝑝
𝐿

 𝑆𝑝
𝐿

𝑐𝑡
∗

 𝐿

 ℎ

𝑑′

𝑇𝑟(ℎ) = 1 − 𝑑′(ℎ, 𝑐𝑡
∗)

 𝑇𝑟(𝑐𝑡
∗) = 1 − 𝑑′(𝑐𝑡

∗, 𝑐𝑡
∗) = 1

 𝑇𝑟(ℎ) > 𝑇𝑟(𝑠) ↔ 𝑑′(ℎ, 𝑐𝑡
∗) < 𝑑′(𝑠, 𝑐𝑡

∗)

𝑃, 𝐿, 𝑆𝑝
𝐿 , ℎ𝑖 , 𝑑, 𝑑′, 𝑐𝑡

∗, 𝑇𝑟

𝑇2  𝑇1

𝑆𝑝
𝐿  𝑇1 𝑇2 𝑐𝑡

∗

𝑑 𝑑′ 𝑆𝑝
𝐿  𝑑′(𝑇2, 𝑐𝑡

∗) < 𝑑′(𝑇1, 𝑐𝑡
∗)

𝐿

𝑆𝑝
𝐿

𝑆𝑝
𝐿

 𝑑 𝑑′  𝑆𝑝
𝐿

                                                             

𝑐1 , 𝑐2 , 𝑐3 …

𝑐𝑡
∗ 𝑇

 𝐿



 

 

𝑋

𝑑 𝑋 𝑋 𝑑:  𝑋 × 𝑋 →

[0, ∞)  𝑥, 𝑦, 𝑧 ∈ 𝑋

 𝑑(𝑥, 𝑦) ≥ 0
 𝑑(𝑥, 𝑦) = 𝑑(𝑦, 𝑥)

 𝑑(𝑥, 𝑦) = 0 ↔ 𝑥 = 𝑦
 𝑑(𝑥, 𝑧) ≤ 𝑑(𝑥, 𝑦) + 𝑑(𝑦, 𝑧)

𝑑 𝑑′

 𝑆𝑝
𝐿

0    𝑖𝑓 𝑥 = 𝑦

     𝑑⨁(𝑥, 𝑦)

1   𝑖𝑓 𝑥 ≠ 𝑦

 𝑑⨁  𝑖 − 𝑖𝑣

𝑑⨁

 𝑖 − 𝑖𝑣

𝑑 𝑑′

𝑑 𝑑′

𝑑′ 𝑑

𝑑

                                                             

𝑑 𝑑′



 

 

  𝑆𝑝
𝐿 𝑑 𝑑′

 ℎ 𝑑  𝑠

𝑆𝑝
𝐿

𝑐1(ℎ ∧ 𝑑 ∧ 𝑠), 𝑐2(ℎ ∧ 𝑑 ∧ ¬𝑠), … , 𝑐5(ℎ ∧ ¬𝑑 ∧

¬𝑠), … , 𝑐8(¬ℎ ∧ ¬𝑑 ∧ ¬𝑠) 𝑐1 𝑐𝑡
∗

𝑐𝑖 𝑐1  𝑑(𝑐1, 𝑐1) = 0, 𝑑(𝑐2 , 𝑐1) =

1, … , 𝑑(𝑐5, 𝑐1) = 2, … , 𝑑(𝑐8, 𝑐1) = 3 𝑝

ℎ ∧ ¬𝑑  𝑝 = {𝑐3 ∨ 𝑐5}

(𝑐3 = 1, 𝑐5 =  2)

𝑝  𝑐𝑡
∗

𝑝  𝑐𝑡
∗

𝑑𝑎𝑣𝑒𝑟𝑎𝑔𝑒(𝑝, 𝑐1) = 1

2
(1 + 2) = 1.5 𝑑𝑚𝑖𝑛−𝑠𝑢𝑚(𝑝, 𝑐1) = 1

2
(1) + 1

2
(1 + 2) = 2

𝑑

𝑆𝑝
𝐿

𝑥  ∀𝑥 ∈ ℕ 𝑑

 𝑑(𝑐𝑥 , 𝑐𝑦) = |𝑥 − 𝑦| 𝑑′

 𝑑

𝑑′

                                                             
𝑑𝑚𝑖𝑛−𝑠𝑢𝑚(𝑝, 𝑐𝑡

∗) = 𝛾 ∗ 𝑑𝑚𝑖𝑛(𝑝, 𝑐𝑡
∗) + 𝛾′𝑑𝑠𝑢𝑚(𝑝, 𝑐𝑡

∗) 0 < 𝛾 ≤ 1 0 < 𝛾′ ≤ 1 𝛾

𝛾′

𝑎𝑣𝑒𝑟𝑎𝑔𝑒 𝑚𝑖𝑛𝑠𝑢𝑚

𝑎𝑣𝑒𝑟𝑎𝑔𝑒 𝑚𝑖𝑛𝑠𝑢𝑚



 

 

𝑑

 𝑑′

𝑆𝑝
𝐿

𝑑 𝑆𝑝
𝐿

𝑆𝑝
𝐿

 𝑆 𝑆

𝑝

(ℎ1, … , ℎ𝑚)

(𝑖1, … , 𝑖𝑝) (ℎ1, … , ℎ𝑚)

(ℎ1
𝑖 , … , ℎ𝑚

𝑘 ) 𝑛 = 𝑝 ∗ ∑ 𝑖, … , 𝑘  𝕊𝑛

 (ℎ1, … , ℎ𝑚)

(𝑖1, … , 𝑖𝑝)

< 𝑖1(ℎ1), … , 𝑖1(ℎ𝑚), … , 𝑖𝑝(ℎ1) … , 𝑖𝑝(ℎ𝑚) >  𝕊𝑛

 

𝑟3 = (𝑟𝑥 , 𝑟𝑦 , 𝑟𝑧)  𝑝3 = (𝑝𝑥 , 𝑝𝑦 , 𝑝𝑧) 𝕊𝑛  ℝ6

𝑟𝑥 , 𝑟𝑦 , 𝑟𝑧, 𝑝𝑥 , 𝑝𝑦 , 𝑝𝑧

 

𝕊𝑛 ℝ3

𝑃, 𝑉, 𝑇

 

𝕊𝑛 ℝ4

𝑌, 𝐾, 𝐿, 𝑁



 

 

𝑆

ℎ1, … , ℎ𝑚

𝑓:  ℝ𝑛 →  ℝ

𝑓(ℎ1, … , ℎ𝑚) = 0

ℎ1, … , ℎ𝑚−1 ∈ ℝ ℎ𝑚 ∈ ℝ  𝑓(ℎ1, … , ℎ𝑚) = 0

ℎ𝑚 = 𝑔(ℎ1, … , ℎ𝑚−1)

ℎ1, … , ℎ𝑚−1

ℎ𝑚

𝑡  (ℎ1, … , ℎ𝑚−1, 𝑡)  (ℎ1, … , ℎ𝑚−1)

 𝑡 𝑓(ℎ1, … , ℎ𝑚−1, 𝑡)  𝕊𝑛

𝑡 ℎ𝑗

𝑓(ℎ1, … , ℎ𝑚)  𝕊𝑛

(𝑃 +
𝑛2𝑁𝐴

2𝑎′

𝑉2
) (𝑉 − 𝑛𝑁𝐴𝑏′) = 𝑛𝑁𝐴𝐾𝐵𝑇

 𝑃 𝑇 𝑉

 𝑛 𝑎′ 𝑏′

 𝑁𝐴  𝐾𝐵

ℝ6

𝑃 𝑇 𝑉 𝑛 𝑎′ 𝑏′



 

 

 𝑛 𝑎′ 𝑏′

ℝ3

𝐴 𝐵  𝑆

𝑓𝐴(ℎ1, … , ℎ𝑚) 𝑓𝐵(ℎ1, … , ℎ𝑚)  𝕊𝑛

ℝ2

𝑚0)

𝑚 𝑣 𝑚 = 𝑚0  ℝ2

𝑚 = 𝑚0/(1 − 𝑣2/𝑐2)1/2

ℝ3

 𝜃∗

𝑎′ 𝑏′



 

 

𝜃  𝜃∗ 𝜃∗ 𝜃

𝜃∗

 𝜃

𝑑

𝑑(𝜃 , 𝜃∗) = |𝜃 − 𝜃∗|

𝜃 𝜃∗  𝜃 = (𝑥1, … , 𝑥𝑛) 𝜃∗ = (𝑥1
∗, … , 𝑥𝑛

∗ )

𝑑(𝜃 , 𝜃∗) = √(𝑥1 − 𝑥1
∗)2+, … , +(𝑥𝑛 − 𝑥𝑛

∗ )2

𝜃  𝜃∗

𝑝 ≥ 1

𝑑(𝜃 , 𝜃∗) = (∑ |𝑥𝑖 − 𝑥𝑖
∗|𝑝

𝑛

𝑖=1

)

1
𝑝

𝑑  𝑑′

𝐼  𝜃∗

𝑑′(𝐼, 𝜃∗) = 𝑚𝑖𝑛𝑥∈𝐼(𝑥 − 𝜃∗)2 + 𝛽 ∫ |𝑥 − 𝜃∗|

 

𝐼

𝑑𝑥

𝐼

𝕊𝑛

𝑑

 ℎ𝑚(𝑥) =

𝑓𝑖 (ℎ1(𝑥), … , ℎ𝑚−1(𝑥))  𝕊𝑛

                                                             
𝛽 > 0



 

 

𝐴 𝐵

𝑝 ≥ 1

𝑑(𝐴, 𝐵) = (∫ |𝑓𝐴(𝑥) − 𝑓𝐵(𝑥)|𝑝 𝑑𝑥)

1
𝑝

𝑝  ∞

 𝑑𝑚𝑎(𝐴, 𝐵) = ∫|𝑓𝐴(𝑥) − 𝑓𝐵(𝑥)|

 𝑑𝑒𝑢(𝐴, 𝐵) = (∫|𝑓𝐴(𝑥) − 𝑓𝐵(𝑥)|2)
1

2

  𝑑𝑐ℎ(𝐴, 𝐵) = 𝑠𝑢𝑝 |𝑓𝐴(𝑥) − 𝑓𝐵(𝑥)|

𝑑𝑚𝑎(𝐴, 𝐵)  𝑚 = 2

𝑑𝑐ℎ(𝐴, 𝐵) 𝑑𝑒𝑢(𝐴, 𝐵)

𝑑𝑚𝑎(𝐴, 𝐵)

𝑓𝑇(𝑥) 𝑇

𝑑𝑖(𝐴, 𝑇) [𝑖 = 𝑚𝑎, 𝑒𝑢, 𝑐ℎ]

𝐴 >𝑡 𝐵 ↔ 𝑑𝑖(𝐴, 𝑇) < 𝑑𝑖(𝐵, 𝑇)

                                                             
𝑐𝑡

∗ 𝑇

 𝐿

𝑇

𝑋 𝑇



 

 

𝑇𝑟(𝐴) =
1

(1 + 𝑑𝑖(𝐴, 𝑇))

 𝑑𝑚𝑎 𝑑𝑒𝑢 𝑑𝑐ℎ

𝑑𝑐ℎ

𝑑𝑚𝑎 𝑑𝑒𝑢

𝑑

 𝑆𝑝
𝐿 𝑑𝑚𝑎

𝑑𝑒𝑢 𝑑𝑐ℎ

𝐴 𝐵  𝑑𝑐ℎ(𝐴, 𝑇) <

𝑑𝑐ℎ(𝐵, 𝑇) 𝑓𝐴(𝑥) 𝑓𝑇 (𝑥)

𝑓𝐵(𝑥)  𝑓𝑇(𝑥)

                                                             



 

 

 𝑓𝐴(𝑥)  𝑓𝑇(𝑥)

 𝑓𝐵 (𝑥)  𝐴 >𝑡 𝐵

 𝑑𝑐ℎ(𝐴, 𝑇) > 𝑑𝑐ℎ(𝐵, 𝑇)  𝐵 >𝑡 𝐴

𝑓𝐴(𝑥) 𝜀  𝑓𝐵(𝑥)

 𝑑𝑐ℎ(𝐴, 𝐵) < 𝜀

𝑓𝐴(𝑥) 𝑓𝐵(𝑥) 𝑓𝑇(𝑥)

𝑓𝐴(𝑥) 𝑓𝑇(𝑥) 𝑓𝐵(𝑥)

𝑑(𝑋, 𝑇)  𝑑𝑚𝑎(𝑋, 𝑇)  𝑑𝑒𝑢(𝑋, 𝑇)

 𝑑(𝐴, 𝑇) > 𝑑(𝐵, 𝑇) 𝑓𝐵 (𝑥)

𝑓𝑇(𝑥)  𝑓𝐴(𝑥)

                                                             



 

 

𝑓𝐴(𝑥)  𝑓𝐵 (𝑥),

𝑓𝐴(𝑥)

𝑓𝑇(𝑥)

 [𝑓𝐵 (𝑥)]

𝑓𝐴(𝑥)  𝑓𝐵 (𝑥)  𝑓𝑇(𝑥)

𝑓𝐵 (𝑥)  𝑓𝑇(𝑥)

𝑓𝐴(𝑥)  𝑓𝑇 (𝑥)

𝑑(𝑋, 𝑌)

𝐵 >𝑡 𝐴  𝐴 >𝑡 𝐵 𝑓𝐴(𝑥)

𝑓𝐵 (𝑥)

𝑓𝐵(𝑥)

                                                             



 

 

 𝑑(𝑋, 𝑇) 𝑓𝐵(𝑥)  𝑓𝐴(𝑥)  𝑓𝐵(𝑥)

𝑓𝑇 (𝑥) 𝑓𝐴(𝑥)

𝑓𝑇(𝑥)  𝑓𝐵(𝑥)

 𝑑(𝑋, 𝑇) 𝑓𝐵 (𝑥)  𝑓𝐴(𝑥)

𝑓𝐴(𝑥)  𝑓𝐵 (𝑥)

 𝑓𝐴(𝑥)

 𝑓𝑇(𝑥)  𝑓𝐵 (𝑥)

𝑓𝐴(𝑥)

𝑓𝑇(𝑥) 𝑓𝐵(𝑥)

𝑓𝐵(𝑥)

 𝑓𝑇(𝑥)  𝑓𝐴(𝑥)



 

 

𝑓𝐴(𝑥) 𝑓𝐵 (𝑥) 𝑑(𝐴, 𝑇) = 𝑑(𝐵, 𝑇)

𝐴 =𝑡 𝐵

𝑓𝐴(𝑥) 𝑓𝑇(𝑥) 𝑓𝐵(𝑥) 𝑓𝐴(𝑥)

 𝑓𝐵 (𝑥) 𝑓𝐴(𝑥)  𝑓𝐵(𝑥)

𝐴 >𝑡 𝐵

𝑑(𝐴, 𝑇) = 𝑥  𝑑(𝐵, 𝑇) = 𝑥 − 𝑑𝑥

𝑑(𝐵, 𝑇) 𝑑(𝐴, 𝑇)

𝐵 >𝑡 𝐴

𝐴 >𝑡 𝐵 𝑓𝐴(𝑥)

𝑓𝑇 (𝑥) 𝑓𝐵(𝑥) 𝑓𝐵 (𝑥) 𝑓𝑇(𝑥) 𝑓𝐴(𝑥)

𝑑𝑚𝑎(𝑋, 𝑇) 𝑑𝑒𝑢(𝑋, 𝑇)

𝑑(𝑋, 𝑇)

 1 𝑚/𝑠

ℝ2



 

 

𝑟𝑇 = 1𝑡 𝑟 𝑡  𝐴

𝑟𝐴 = 1𝑡 +
sin(100𝑡)

10
+

𝑒

(𝑡+5)10 − 𝜋 ⋅ 10−3  

𝐴

0.1 𝑚

 𝐴

𝑒  𝜋

 𝐴



 

 

𝑓𝐴(𝑥)

 𝑑𝑚𝑎(𝑋, 𝑇)  𝑑𝑒𝑢(𝑋, 𝑇)

𝑋

𝑇

𝑑𝑎𝑛(𝑋, 𝑇) = 𝐹(𝑎𝑐𝑐𝑢𝑟𝑎𝑐𝑦,  𝑛𝑜𝑚𝑖𝑐𝑖𝑡𝑦)

 𝑑𝑚𝑎(𝑋, 𝑇)  𝑑𝑒𝑢(𝑋, 𝑇)

                                                             



 

 

 𝑦 = 𝑓(𝑥)

 𝑐 𝑥  𝑑𝑥  𝑦  𝑎 · 𝑑𝑥 𝑎

 𝑐

 𝐼

 𝐼

 𝐼 𝐼

𝑑(𝐴′, 𝐵′) = (∫ |𝑓𝐴′
(𝑥) − 𝑓𝐵′

(𝑥)|𝑝

𝑚

𝑛

𝑑𝑥)

1
𝑝

𝑝 = 1

𝑝 = 2

                                                             

𝑦𝑇 = 2𝑥 𝑦𝐴 = 𝑥 𝑦𝐵 = 𝑥 + 𝑠𝑖𝑛𝑥  𝑓𝐵(𝑥) 2𝜋, 4𝜋, 6𝜋 …

 𝑑𝑚𝑎(𝐴′, 𝑇′) = 𝑑𝑚𝑎(𝐵′, 𝑇′) [0, 2𝜋] 𝑑𝑚𝑎(𝐴′, 𝑇′) = 𝑑𝑚𝑎(𝐵′, 𝑇′) = 2𝜋 [0, 4𝜋] 𝑑𝑚𝑎(𝐴′, 𝑇′) =

𝑑𝑚𝑎(𝐵′, 𝑇′) = 4𝜋 𝑓𝐵(𝑥)  𝑑𝑚𝑎(𝐴′, 𝑇′) < 𝑑𝑚𝑎(𝐵′, 𝑇′)

 𝑓𝐴(𝑥) 𝑓𝑇(𝑥)  𝑓𝐵(𝑥)

𝑑𝑚𝑎(𝐴′, 𝐵′)

 𝑑𝑚𝑎(𝑋, 𝑇) 𝑓𝐵(𝑥) 𝑑𝑚𝑎(𝐴, 𝑇) = 𝑑𝑚𝑎(𝐵, 𝑇)

𝑓𝐴(𝑥)  𝑓𝐵(𝑥)

𝑓𝐴(𝑥)  𝑓𝐵(𝑥)

𝑑𝑚𝑎(𝐴′, 𝐵′)



 

 

𝑋 𝑇

𝑑𝑒𝑢(𝑋, 𝑇) 𝑑𝑒𝑢(𝑋′, 𝑇′)14

𝑑𝑎𝑛(𝑋, 𝑇) = 𝐹(𝑎𝑐𝑐𝑢𝑟𝑎𝑐𝑦, 𝑛𝑜𝑚𝑖𝑐𝑖𝑡𝑦) = 𝐹(𝑑𝑒𝑢(𝑋, 𝑇), 𝑑𝑒𝑢(𝑋′, 𝑇′))

𝑋 𝑇

𝑇𝑟(𝑋) =
1

(1 + 𝑑𝑎𝑛(𝑋, 𝑇))

 𝑑𝑎𝑛(𝑋, 𝑇) 𝑖𝑠 𝑎 𝑚𝑒𝑡𝑟𝑖𝑐 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛

 𝑑𝑎𝑛(𝑇, 𝑇) = 0 → 𝑇𝑟(𝑇) = 1

 𝑇𝑟(𝑋) = 1 ↔ 𝑋 = 𝑇

 ◇( 𝑇𝑟(𝐴) ≠ 𝑇𝑟(𝐵) )

 ◇( 𝑇𝑟(𝐴) = 𝑇𝑟(𝐵) ∧ 𝐴 ≠ 𝐵 )

 𝑖𝑓 𝑑𝑒𝑢(𝑋, 𝑇) = 0 → 𝑇𝑟(𝑋) = 1 

 𝑖𝑓 𝑑𝑒𝑢(𝑋′, 𝑇′) = 0 → ◇( 𝑇𝑟(𝑋) ≠ 1 )

 ( 𝑖𝑓 𝑑𝑒𝑢(𝑋, 𝑇) ≈ ∞ ∧ 𝑑𝑒𝑢(𝑋′, 𝑇′) ≈ 0) → 𝑇𝑟(𝑋) ≈ 0 

 ( 𝑖𝑓 𝑑𝑒𝑢(𝑋, 𝑇) ≈ 0 ∧ 𝑑𝑒𝑢(𝑋′, 𝑇′) ≈ ∞) → 𝑇𝑟(𝑋) ≈ 0 

                                                             
𝑑𝑒𝑢(𝑋, 𝑇) 𝑑𝑒𝑢(𝑋′, 𝑇′)

𝑑𝑒𝑢(𝑋, 𝑇) 𝑋 𝑑𝑒𝑢(𝑋, 𝑇)

𝑋 𝑑𝑒𝑢(𝑋′, 𝑇′)

𝑑𝑒𝑢(𝑋, 𝑇) 𝑑𝑒𝑢(𝑌, 𝑇) 𝑑𝑒𝑢(𝑋, 𝑇)

𝑑𝑒𝑢(𝑋′, 𝑇′) 𝑑𝑒𝑢(𝑋, 𝑇)

𝑋 𝑑𝑒𝑢(𝑋, 𝑇) 𝑋 𝑑𝑒𝑢(𝑋′, 𝑇′)



 

 

𝑋

(𝑚 − 𝑛)

𝑑𝑎𝑛(𝑋, 𝑇) = 𝑑𝑒𝑢(𝑋, 𝑇) + (𝑚 − 𝑛)𝑑𝑒𝑢(𝑋′, 𝑇′)

𝑑𝑎𝑛(𝑋, 𝑇) = (∫ (𝑓𝑋(𝑥) − 𝑓𝑇(𝑥))2

𝑚

𝑛

𝑑𝑥)

1
2

+ (𝑚 − 𝑛) (∫ (𝑓𝑋′
(𝑥) − 𝑓𝑇′

(𝑥))2

𝑚

𝑛

𝑑𝑥)

1
2

𝑑𝑎𝑛(𝑋, 𝑇)

 𝐴 >𝑡 𝐵 𝑟𝐴

𝐴  𝐵

 [10 ≤ 𝑥 ≤ 32]

 𝑓𝑇(𝑥) = −0.001𝑥3 + 0.03𝑥2 + 0.2𝑥 + 10

 𝑓𝐴(𝑥) = −0.001𝑥3 + 0.03𝑥2 + 0.23𝑥 + 1

 𝑓𝐵(𝑥) = 0.001𝑥3 − 0.03𝑥2 − 0.25𝑥 + 23

                                                             

𝑦 ∗ 𝑥1 2⁄ 𝑦 ∗ 𝑥−1 2⁄

𝛾 𝛾′ 𝑑𝑎𝑛(𝑋, 𝑇) =  𝛾 𝑑𝑒𝑢(𝑋, 𝑇) +  𝛾′ (𝑚 −

𝑛)𝑑𝑒𝑢(𝑋′ , 𝑇′) 0 < 𝛾 ≤ 1  0 < 𝛾′ ≤ 1

𝒇𝑨(𝒙) 

𝒇𝑻(𝒙) 

𝒇𝑩(𝒙) 



 

 

 𝑑𝑒𝑢(𝐴, 𝑇) = 39.3

 𝑑𝑒𝑢(𝐵, 𝑇) = 14.9

 𝑑𝑒𝑢(𝐴′, 𝑇′) = 0.1407

 𝑑𝑒𝑢(𝐵′, 𝑇′) = 4.0792

 𝑑𝑎𝑛(𝐴, 𝑇) = 39.3 + (32 − 10) ∗ 0.1407 = 39.3 + 3.1 = 42.4

 𝑑𝑎𝑛(𝐵, 𝑇) = 14.9 + (32 − 10) ∗ 4.0792 = 14.9 + 89.8 = 104.6

𝑑𝑒𝑢(𝑋, 𝑇)  𝐵 >𝑡 𝐴 (14.9 < 39.3)

𝑑𝑎𝑛(𝑋, 𝑇)  𝐴 >𝑡 𝐵 (42.4 < 104.6)

 𝑑𝑎𝑛(𝑋, 𝑇)

𝑆

𝕊𝑛 𝑆

 𝑑𝑎𝑛(𝑋, 𝑇) 𝑑𝑎𝑛(𝑋, 𝑇)

𝕊𝑛

𝑥

𝑦 (0,0)  𝑇

𝕊𝑛 (𝑎𝑥 , 𝑛𝑦) 𝑎𝑥 𝑛𝑦

(0,0) 𝑥 (0,0)

𝑦

𝑘 𝑑𝑎𝑛(𝑋, 𝑇) = 𝑘

 𝑘 𝕊𝑛

𝑘𝑖

𝕊𝑛 𝑇𝑟𝑖
1

(1+𝑘𝑖)

                                                             



 

 

𝑦

 𝑇

𝑇

𝑇𝑟𝑗 𝑇𝑟𝑖 𝑖 <

𝑗



 

 

𝑦 = 𝑥 𝕊𝑛

 𝑇

𝑃𝐼𝐺 =
𝑅𝑇

𝑣

𝑎

 𝑏

𝑃𝑉𝑊 =
𝑅𝑇

𝑣 − 𝑏
−

𝑎

𝑣2

                                                             
𝑣 𝑣 = 𝑉 𝑛⁄ 𝑛 𝑅



 

 

𝐴

𝐵 𝐴  𝑘

𝐴

𝐴

𝑑𝑎𝑛(𝑋, 𝑇) ≤ 𝑘𝑖

𝑘𝑖 𝑘𝑖

 𝜀

𝜀

𝑑𝑒𝑢(𝑋, 𝑇) ≤ 𝑎𝑖

𝑎𝑖 𝜀

                                                             



 

 

 𝑇 𝑃𝑖

𝑓𝐵(𝑥) 𝑓𝐴(𝑥)

 𝑑𝑒𝑢(𝑋′, 𝑇′) ≤ 𝑛𝑗

𝑛𝑗

𝑃𝑖

𝑇  𝑑𝑒𝑢(𝑋, 𝑇) 𝑓𝐵(𝑥)

𝑛𝑗

𝑛𝑗

𝑎𝑋 ≤ 𝑎𝑖 𝑛𝑋 ≤ 𝑛𝑗



 

 

𝑎𝑖 𝑛𝑗

 𝑇

𝑍  𝑑𝑎𝑛(𝑍, 𝑇) = 𝑎𝑖 + 𝑛𝑗

𝑀 𝑁

𝑀 𝑇 𝑁 𝑀 𝑁 𝑀

𝑁 𝑀

𝑁

  𝑀, 𝑁 ∉ 𝑀 𝑁  𝑇𝑟(𝑀) > 𝑇𝑟(𝑁)

  𝑀 ∈  𝑁 ∉ 𝑀  𝑁

  𝑀, 𝑁 ∈ 𝑀 𝑁  𝑇𝑟(𝑀) > 𝑇𝑟(𝑁)

 



 

 

𝑋 𝑇

𝑑𝑎𝑛(𝑋, 𝑇)

𝑑𝑎𝑛(𝑋, 𝑇)

𝑑𝑎𝑛(𝑋, 𝑇)

𝑑𝑎𝑛(𝑋, 𝑇)

𝑇

𝑑𝑎𝑛(𝑋, 𝑇)

𝑋 𝑇

𝑑𝑎𝑛(𝑋, 𝑇)



 

 

𝑀 𝐿1, . . , 𝐿𝑛

𝑤1, … , 𝑤𝑛 (∑ 𝑤𝑖 = 1) 𝑇𝑅

𝑇𝑅(𝑀) = 𝑤1𝑇𝑟(𝐿1) + ⋯ + 𝑤𝑛𝑇𝑟(𝐿𝑛) 𝑇𝑟(𝐿𝑖)

𝐿𝑖



 

 



 

 



 

 



 

 

𝑋 𝑇

 

 



 

 

𝑇2  𝑇1

𝑇2

 𝑇1



 

 

𝑃

𝐿 𝑃 𝑆𝑃
𝐿

𝑐1 , 𝑐2, 𝑐3 … 𝑃  𝐿

𝑃 𝐿2 ℎ 𝐿

 𝑆𝑃
𝐿 𝑑(𝑐𝑖 , 𝑐𝑗)

𝑆𝑃
𝐿 𝑑 𝑑′(ℎ, 𝑐𝑖)

 𝑆𝑃
𝐿

𝑐𝑡
∗  𝑆𝑃

𝐿

 𝐿3

 ℎ 𝑑′ ℎ 𝑐𝑡
∗

𝑇𝑟(ℎ) = 1 − 𝑑′(ℎ, 𝑐𝑡
∗)

 𝑇𝑟(𝑐𝑡
∗) = 1

 𝑇𝑟(ℎ) > 𝑇𝑟(𝑠) ↔ 𝑑′(ℎ, 𝑐𝑡
∗) < 𝑑′(𝑠, 𝑐𝑡

∗)

                                                             

𝑐1 , 𝑐2 , 𝑐3 …

𝑐𝑡
∗ 𝑇

 𝐿



 

 

𝑇2

 𝑇1 𝑆𝑃
𝐿  𝑇1 𝑇2 𝑐𝑡

∗

𝑑 𝑑′ 𝑆𝑝
𝐿

 𝑑′(𝑇2, 𝑐𝑡
∗) < 𝑑′(𝑇1, 𝑐𝑡

∗)

𝑆𝑝
𝐿 ℕ 𝑐𝑥 =

𝑥  ∀𝑥 ∈ ℕ 𝑑

 𝑑(𝑐𝑥 , 𝑐𝑦) = |𝑥 − 𝑦| 𝑐9  =

𝑐12  = 𝑐9 

𝑐8 𝑐12 𝑑(𝑐9, 𝑐8) = 1 < 𝑑(𝑐12 , 𝑐8) = 4

𝑐9 𝑐12

 𝑑 𝑑′  𝑆𝑃
𝐿 𝑑

𝑆𝑃
𝐿

𝑋 𝑑:  𝑋 × 𝑋 → [0, ∞)

 𝑥, 𝑦, 𝑧 ∈ 𝑋

 𝑑(𝑥, 𝑦) ≥ 0

 𝑑(𝑥, 𝑦) = 𝑑(𝑦, 𝑥)

 𝑑(𝑥, 𝑦) = 0 ↔ 𝑥 = 𝑦

 𝑑(𝑥, 𝑧) ≤ 𝑑(𝑥, 𝑦) + 𝑑(𝑦, 𝑧)

𝑑 𝑑′

𝑑 𝑑′

𝑑

  𝑆𝑃
𝐿



 

 

𝑑  𝑆𝑃
𝐿

𝑑′  𝑑

𝑑′

𝑑′

ℎ  𝑐𝑡
∗

ℎ  𝑐𝑡
∗

𝑑

 𝑑′

𝑆𝑃
𝐿

𝑑 𝑆𝑃
𝐿

𝑆𝑃
𝐿

𝑑

𝑆𝑃
𝐿

 𝑆

(ℎ1, … , ℎ𝑚)

                                                             
𝑑𝑚𝑖𝑛−𝑠𝑢𝑚(ℎ, 𝑐𝑡

∗) = 𝛾 ∗ 𝑑𝑚𝑖𝑛(ℎ, 𝑐𝑡
∗) + 𝛾′𝑑𝑠𝑢𝑚(ℎ, 𝑐𝑡

∗) 0 < 𝛾 ≤ 1 0 < 𝛾′ ≤ 1 𝛾

𝛾′

𝑎𝑣𝑒𝑟𝑎𝑔𝑒 𝑚𝑖𝑛𝑠𝑢𝑚



 

 

(ℎ1, … , ℎ𝑚) 𝑛

𝑛  𝕊𝑛

𝕊𝑛 ℝ3

ℎ1, … , ℎ𝑚 ℎ1, … , ℎ𝑚−1 ∈ ℝ

ℎ𝑚 ∈ ℝ  𝑓(ℎ1, … , ℎ𝑚) = 0

ℎ𝑚 = 𝑔(ℎ1, … , ℎ𝑚−1)

ℎ1, … , ℎ𝑚−1

ℎ𝑚

Ω

Ω 𝑃

< Ω, 𝑃 >

𝑋 𝑋: Ω ⟶

ℝ 𝑝(𝑥)

𝑝(𝑥) = 𝑃(𝑋 = 𝑥)

                                                             
< Ω, ℱ, 𝑃 > ℱ

𝑃 𝑃: ℱ ⟶ [0,1]

ℱ = Ω



 

 

𝑓(𝑥)

𝑑𝑥

𝑃𝑟 [𝑎 ≤ 𝑋 ≤ 𝑏] = ∫ 𝑓(𝑥)𝑑𝑥
𝑏

𝑎

𝑓(𝑥)

(𝑣1, … , 𝑣𝑖) (𝑘1, … , 𝑘𝑗) (𝑐1, … 𝑐𝑘)

𝑓(𝑣1, … , 𝑣𝑖 , 𝑘1, … , 𝑘𝑗 , 𝑐1, … 𝑐𝑘) = 0

𝑥 = 𝑣𝑡 + 𝑥𝑜

𝑥 𝑡  𝑥𝑜 𝑣

                                                             
𝑓(𝑥)
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5 𝑃𝑉 = 𝑛𝑅𝑇

𝑃 𝑇 𝑉 𝑛

𝑅

𝑃𝑉 = 2𝑅𝑇

𝑛 2𝑛 2−𝑛

𝑋 {𝑥1, … , 𝑥2𝑛}

𝑝(𝑥𝑖) = 2−𝑛 𝑛 𝑛

𝑛 𝑝(𝑥𝑖) = 0.25

𝑝(𝑥𝑖) = 𝑘ℎ(1 − 𝑘)𝑛−ℎ ℎ 𝑥𝑖 𝑘

𝑛 ℎ 𝑘

𝑛
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𝑇
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𝕊𝑛

𝑑

 ℎ𝑚(𝑥) = 𝑓𝑖 (ℎ1(𝑥), … , ℎ𝑚−1(𝑥))

 𝕊𝑛

𝑋 𝑇

𝐿𝑃 𝑝 ≥ 1

𝑑(𝑋, 𝑇) = (∫ |𝑓𝑋(𝑥) − 𝑓𝑇(𝑥)|𝑝 𝑑𝑥)

1
𝑝

𝑝  ∞

 𝑑𝑚𝑎(𝑋, 𝑇) = ∫|𝑓𝑋(𝑥) − 𝑓𝑇(𝑥)| 𝑑𝑥

 𝑑𝑒𝑢(𝑋, 𝑇) = (∫|𝑓𝑋(𝑥) − 𝑓𝑇(𝑥)|2 𝑑𝑥)
1

2

  𝑑𝑐ℎ(𝑋, 𝑇) = 𝑠𝑢𝑝 |𝑓𝑋(𝑥) − 𝑓𝑇(𝑥)|

𝑑 𝑑𝑖(𝑋, 𝑇)

[𝑖 = 𝑚𝑎, 𝑒𝑢, 𝑐ℎ]

𝑋 𝑌

𝑋 >𝑡 𝑌 ↔ 𝑑𝑖(𝑋, 𝑇) < 𝑑𝑖(𝑌, 𝑇)

𝑋

𝑇𝑟(𝑋) =
1

(1 + 𝑑𝑖(𝑋, 𝑇))

𝑑𝑚𝑎(𝑋, 𝑇) 𝑑𝑒𝑢(𝑋, 𝑇) 12

𝐿𝑃
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𝑑𝑎𝑛(𝑋, 𝑇) 𝑋 𝑇
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𝑑𝑎𝑛(𝑋, 𝑇)

 𝑑𝑚𝑎(𝑋, 𝑇)  𝑑𝑒𝑢(𝑋, 𝑇)

𝑑𝑎𝑛(𝑋, 𝑇) = 𝐹(𝑑𝑒𝑢(𝑋, 𝑇), 𝑑𝑒𝑢(𝑋′, 𝑇′))

𝑑𝑎𝑛(𝑋, 𝑇)

 ( 𝑖𝑓 𝑑𝑒𝑢(𝑋, 𝑇) ≈ ∞ ∧ 𝑑𝑒𝑢(𝑋′, 𝑇′) ≈ 0) → 𝑇𝑟(𝑋) ≈ 0 

 ( 𝑖𝑓 𝑑𝑒𝑢(𝑋, 𝑇) ≈ 0 ∧ 𝑑𝑒𝑢(𝑋′, 𝑇′) ≈ ∞) → 𝑇𝑟(𝑋) ≈ 0 

𝑓𝐵(𝑥)

𝑓𝐵(𝑥)

                                                             

𝑑𝑒𝑢(𝑋′, 𝑇′) 𝑑𝑚𝑎(𝑋′, 𝑇′)



 

 

𝑑1
𝑎𝑛(𝑋, 𝑇) = 𝑑𝑒𝑢(𝑋, 𝑇) + (𝑚 − 𝑛)𝑑𝑒𝑢(𝑋′, 𝑇′)

(𝑚 − 𝑛)

(𝑚 − 𝑛)𝑑𝑒𝑢(𝑋′, 𝑇′)

𝑑1
𝑎𝑛(𝑋, 𝑇)

𝐴 𝐵

𝐵 𝐴 𝑑1
𝑎𝑛(𝑋, 𝑇)

(𝑚 − 𝑛)

𝑑1
𝑎𝑛(𝑋, 𝑇) 𝑋

𝑇

𝑇𝑟1(𝑋) =
1

(1 + 𝑑1
𝑎𝑛(𝑋, 𝑇))

𝑑2
𝑎𝑛(𝑋, 𝑇) = (𝑑𝑒𝑢(𝑋, 𝑇) + 1)(𝑑𝑒𝑢(𝑋′, 𝑇′) + 1) − 1

𝑑2
𝑎𝑛(𝑋, 𝑇)

𝑋 𝑇

𝑇𝑟2(𝑋) =
1

(1 + 𝑑2
𝑎𝑛(𝑋, 𝑇))

                                                             



 

 

𝑇𝑟2(𝑋) =
1

(1 + 𝑑𝑒𝑢(𝑋, 𝑇))

1

(1 + 𝑑𝑒𝑢(𝑋′, 𝑇′))

𝑇𝑟2(𝑋) 𝑇𝑟1(𝑋) 𝑇𝑟2(𝑋)

𝑇𝑟2(𝑋)

𝑇𝑟2(𝑋)

𝑇𝑟2(𝑋) =
1

(1 + 𝑑𝑒𝑢(𝑋, 𝑇))

1

(1 + 𝑑𝑒𝑢(𝑋′, 𝑇′))

1

(1 + 𝑑𝑒𝑢(𝑋′′, 𝑇′′))
…

𝑋 𝑇

𝑋 𝑇



 

 

𝑛 𝑋

𝑝𝑋(𝑥) 𝑇

𝑝𝑇(𝑥) 𝑋 𝑇

𝑑𝐾𝐿(𝑋, 𝑇) = 𝐾𝐿( 𝑝𝑇(𝑥)|| 𝑝𝑋(𝑥)) = ∑  𝑝𝑇(𝑥)log (
 𝑝𝑇(𝑥)

 𝑝𝑋(𝑥)
)

𝑛

𝑓𝑋(𝑥) 𝑓𝑇(𝑥)

𝑚, … , 𝑛

𝑑𝐾𝐿(𝑋, 𝑇) = 𝐾𝐿( 𝑓𝑇(𝑥)|| 𝑓𝑋(𝑥)) = ∫ 𝑓𝑇(𝑥)log (
𝑓𝑇(𝑥)

𝑓𝑋(𝑥)
) 𝑑𝑥

𝑛

𝑚

𝑓𝑋(𝑥) 𝑓𝑇(𝑥)

𝑓𝑋(𝑥)

𝑓𝑇(𝑥)

𝑓𝑇 (𝑥) 𝑓𝑋(𝑥)

𝐻(𝑝) 𝑝(𝑥)

𝐻(𝑝) = − ∑ 𝑝(𝑥)log 𝑝(𝑥)
𝑛

𝐻(𝑝)

𝑋

𝑝(𝑥)

{000, 001, 010, … , 111}

𝑋



 

 

𝐻(𝑝) = − ∑
1

8
log2

1

8

8

1

= 3 ("bits")

𝑝(𝑥)

𝑞(𝑥)

𝐻(𝑝, 𝑞) = − ∑ 𝑝(𝑥)log 𝑞(𝑥)
𝑛

𝑝(𝑥)

𝑞(𝑥)

𝑝(𝑥) 𝑞(𝑥)

𝑝(𝑥) = {0.25, 0.25, 0.25, 0.125, 0.125} 𝑝(𝑥) 𝐻(𝑝) = 2.25

𝑝(𝑥)

 𝑞(𝑥) = {0.125, 0.125, 0.25, 0.25, 0.25}

𝐻(𝑝) = 2.25 𝑞(𝑥)

𝐶 {001, 010, 01, 10, 11}

𝑞(𝑥) 𝐶 3𝑏𝑖𝑡𝑠 ∗ 0.125 +

3𝑏𝑖𝑡𝑠 ∗ 0.125 + ⋯ + 2𝑏𝑖𝑡𝑠 ∗  0.25 = 2.25 𝑏𝑖𝑡𝑠 𝑞(𝑥)

𝐶 𝑞(𝑥)

𝐶 𝑝(𝑥)

𝑝(𝑥) 𝐶 3𝑏𝑖𝑡𝑠 ∗ 0.25 +

3𝑏𝑖𝑡𝑠 ∗ 0.25 + ⋯ + 2𝑏𝑖𝑡𝑠 ∗  0.125 = 2.5 𝑏𝑖𝑡𝑠

𝑝(𝑥) 2.25 𝐶 0.25 𝑏𝑖𝑡𝑠

𝐶 𝑞(𝑥)

𝑝(𝑥) 𝐶 𝑞(𝑥)

𝑝(𝑥) 𝐶 2.5 𝑏𝑖𝑡𝑠

𝐻(𝑝, 𝑞)

𝑞(𝑥) 𝑝(𝑥)

𝐻(𝑝, 𝑞) − 𝐻(𝑝) 2.5 𝑏𝑖𝑡𝑠 − 2.25 𝑏𝑖𝑡𝑠 = 0.25 𝑏𝑖𝑡𝑠

𝐾𝐿

𝐾𝐿( 𝑝||𝑞) = 𝐻(𝑝, 𝑞) − 𝐻(𝑝)

𝑝𝑖
𝑋 = 𝑝𝑖

𝑌 0 log 0
0

= 0

0 log 0
𝑞

= 0 𝑝 log 𝑝
0

= ∞



 

 

𝑑𝐽𝐷(𝑋, 𝑇) = 𝐾𝐿(𝑇||𝑋) + 𝐾𝐿(𝑋||𝑇)

𝑝(𝑥)

𝑞(𝑥)

𝑑(𝑝(𝑥) , 𝑞(𝑥)) = (∑ |𝑝(𝑥) − 𝑞(𝑥)|𝑝

𝑛

𝑖=1

)

1
𝑝

𝑝 = 1 𝑝 = 2
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𝑑𝑃

𝑑𝑄
) 𝑑𝑄

𝑓(𝑡)
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𝑡 𝑙𝑜𝑔(𝑡) 𝐾𝐿
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𝐶𝑠137 𝜆 4.4 ∗ 10−8
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𝐴 𝐵

𝐴 𝐵 𝑑𝐾𝐿(𝐴, 𝑇) = 𝑑𝐾𝐿(𝐵, 𝑇)

𝐴 𝐵

𝐴 >𝑡 𝐵

𝑑𝑒𝑢(𝑋′, 𝑇′) = (∫ |𝑓𝑋′
(𝑥) − 𝑓𝑇′

(𝑥)|2

𝑚

𝑛

𝑑𝑥)

1
2

𝑓𝑋′
(𝑥) 𝑓𝑇′

(𝑥)

𝑓𝑋(𝑥) 𝑓𝑌(𝑥) 𝑥𝑖 𝑥𝑖

𝑓𝑋 (𝑥) 𝑓𝑌(𝑥)

𝑥𝑖 𝑑𝑒𝑢(𝑋′, 𝑇′) 𝑑𝑒𝑢(𝑌′, 𝑇′) 𝑓𝑋(𝑥)

𝑓𝑇(𝑥) 𝑓𝑌(𝑥)

                                                             
𝐵 𝑥

−𝑥𝑚, … , 0, … , 𝑥𝑛

𝐵 𝐴
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𝑓𝑋(𝑥) 𝑓𝑌(𝑥)

𝑋 𝑇 𝑥𝑖 , 𝑥𝑗 , 𝑥𝑚 , 𝑥𝑛 > 0

𝑥𝑚 , 𝑥𝑛 > 𝑥𝑖 , 𝑥𝑗 𝑥𝑛 − 𝑥𝑚 = 𝑥𝑗 − 𝑥𝑖 𝑃[𝑥𝑖 ≤ 𝑋 ≤ 𝑥𝑗] > 𝑃[𝑥𝑚 ≤ 𝑋 ≤ 𝑥𝑛]

𝑙

𝐴

𝐵 𝐵 𝑥𝑖 , 𝑥𝑗, 𝑥𝑚 , 𝑥𝑛 > 0

𝑥𝑚 , 𝑥𝑛 > 𝑥𝑖 , 𝑥𝑗 𝑥𝑛 − 𝑥𝑚 = 𝑥𝑗 − 𝑥𝑖 𝑃[𝑥𝑖 ≤ 𝑋 ≤ 𝑥𝑗] < 𝑃[𝑥𝑚 ≤ 𝑋 ≤ 𝑥𝑛]
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𝑑𝑝
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𝑑𝑒𝑢(𝑋′, 𝑇′) ≈ 0

 ( 𝑖𝑓 𝑑𝐾𝐿(𝑋, 𝑇) ≈ ∞ ∧ 𝑑𝑒𝑢(𝑋′, 𝑇′) ≈ 0) → 𝑇𝑟(𝑋) ≈ 0 

 ( 𝑖𝑓 𝑑𝐾𝐿(𝑋, 𝑇) ≈ 0 ∧ 𝑑𝑒𝑢(𝑋′, 𝑇′) ≈ ∞) → 𝑇𝑟(𝑋) ≈ 0 

𝑑𝑝
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𝑑𝑑
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𝑑𝑝
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𝑑𝑝
𝑎𝑛(𝑋, 𝑇)

𝑑𝑝
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𝑑𝑑
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𝑎𝑛(𝑋, 𝑇) < 𝑑𝑝
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𝑎𝑛(𝑋, 𝑇) 𝑇𝑟𝑝(𝑋)

 𝑑𝑝
𝑎𝑛(𝑋, 𝑇) ≥ 0

 𝑑𝑝
𝑎𝑛(𝑋, 𝑇) = 0 ↔ 𝑋 = 𝑇

 𝑑𝑝
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 ◊ ( 𝑇𝑟𝑝(𝐴) ≠ 𝑇𝑟𝑝(𝐵) )

 ◊ ( 𝑇𝑟𝑝(𝐴) = 𝑇𝑟𝑝(𝐵) ∧ 𝐴 ≠ 𝐵 )

 𝑖𝑓 𝑑𝐾𝐿(𝑋, 𝑇) = 0 → 𝑋 = 𝑇 

 𝑖𝑓 𝑑𝑒𝑢(𝑋′, 𝑇′) = 0 → 𝑋 = 𝑇
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𝑎𝑛(𝑋, 𝑇)

𝑋 𝑇
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Figure 13 

Value similarity Shape similarity Combination Truthlikeness

Deterministic laws d-accuracy d-nomicity

Measured by

Probabilistic laws p-accuracy p-nomicity

Measured by



 

 



 

 



 

 



 

 


